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Theorem 1.1:  

If the signatures of consecutive pointed mirrors for odd n ≥ 5 are related recursively via the matrix  Em, 

 the ratio 1 /
k k
λ λ+  of their edge lengths = 1 2cos

n

π
+  ( 1,2,...)k = . 

___________________________________________________________________________________ 
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, , ...,sin sin sin ;
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n n n
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π π π =  
    (3)  

 Em = the symmetric m x m matrix in which  

  each super-diagonal and sub-diagonal element = 1; 

  each main diagonal element = 1, except for the element em,m , which = 2; 

 every other element = 0;  (4) 
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Proof: 
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